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FIRST TERM EXAMINATION—2024-25
CLASS-X
SUBJECT-SOCIAL SCIENCE

Time:3Hrs, M.M. : 80
\

General Instructiong.

1. The question paper comprises Six Sections - A, B, C, D, E and F. There are 37 questions

n the Question paper. All questions are compulsory.

Section A - From Questions 1 to 20 are MCQs of 1 mark each.

Section B - Question o, 21 to 24 are Very Short Answer Type Questions, carrying 2

marks each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25t0 Q.29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words. :

S.  Section D - Question no. 30 to 33 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are ‘case based questions with three sub
questions and are of 4 marks each. Answer to each question should not exceed 103
words.

7. Section F - Question no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions have to be
attempted. '

9. In addition to this, separate instructions are given with each section and question,
wherever necessary. A

SECTION - A
MCQs (1x20=20)

Read the combinations showing the cropping season (sown) and select the correct

option: (1)
X: June-July Y: October-December Z: April March

Options:

a) .- X-Rabi, Y-Kharif, Z-Zaid b)  X-Zaid, Y-Rabi, Z- Kharif

c)  X-Kharif, Y-Zaid, Z-Rabi /)Z X-Kharif, Y-Rabi, Z-Zaid

Social Studies— X -1



o : (1)
. .- Study the table given below.

(@9 T e

Person D Average income | . | K
|2500 |4600 [s000 |x

I

Person A| Person B | Person ¢

i | Fin-d:X, the income of Pérson D.
S a 3000 b. 4000
N / 3900 ¥ d. 4100 /
. Arrange the following statements in sequential order based on thff‘-e“’énts that took pla:::.
7 .in India prior to ‘independence. (

i Poorna Swaraj resolution was passed.
" ii'."-/ Boycott of the Simon Commission

= u| th India Movement launched.

 iv. “.’Sélt.marCh and the beginning of the-Civil Disobedience Movement.

- Options: o o .
v )5/ i, i, iv, iii ]
c. i ivii i : | d. i, i, dil, iv

’ / Idenfify' the"per-soﬁ in the painting from the options given below. He was described as _the
B : . . 1
* most dangerous enemy of our social order. (1)

A/ - Metternich . _ ' _b.. -Mazzini

c. Garibaldi | SR d. Cavour
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| ' | Read
/‘,./ There are two. statements given below, marked as Assertion (A) and Reason (B :
£ . | _ 4
the Statemems and choose the correct OPt'O" 5 * 4
Assertion (A) -

Jble political force
The Poona Pact made the depressed classes a f°”"'d?‘?'e poites
for the fi

1

rst time in- history.

the
Reason (R) : br. B. R, Ambedkar and Gandhi agreed to make separate electorates for

_depressed Classes in the Poona Pact. . o

-a. AIS true but R is false. b Lo A : el

b.. A is false. butR j |s true
¢ Both A and R are true and R epraInS A. - i
d. Both A and R are true but R does not explain A ; _
/6/ Complete the folloWlng Wlth the correct information: _ _A & - - S M

‘Mah_g_oiMahgifera 'I'ndicé;\,Mah'ua- ; |

= Ay v g = . - . = . 4 -
YR o8 : . e % .

a':;f.‘_‘ Anthocaphalus Cadamba .

et tb;'*'.:°.'Ta'=\mar|ndus Indlca -
< ::4“ g 5. i
#_  Bassia Latrfolra
' E

- d. ‘2 ;Anthocaphalus Latlfoha

Match the columns and choose correct option.

\ ~Cclum_r‘r 1| Colunn - e

! 7 A .1797' & Vienna. " Peace |

i R b AT N S_c_t-‘l:lel'nent

f: B. |1814 |2, |Livasion of Italy

C. {1821 _ -3. Revolution in lEuropc

i | - |D. | 1848 |4. . -Sti'_ti'ggle’ | for

| - “| Independence in Greek.
Option_s: | } |
/{.' A-2,B-1,C-3,D-4 b ,A-4,B-1‘,C'_2,D._3‘
¢ A-3B-2C-1D-4 A A-2,B.1,C-4D-3

.y’ll‘. .

Social Studies — X - 3




- e ——— e O
/ There are two statements given below, marked as Assertion (A) and Reason (R). Reay

the statements and mark the option which is most suitable: (1) .
Assertion : Hindi was identified as the only official language of (Rl
Reason : It helped in creating supremacy of Hindi speaking people over others.
Options:
a. |If both assertion and reason are true and reason is the cqrrect éxplanation of assertion.
_b. If both assertion and reason are true but reason is not the correct explanation of assertion
.  If assertion is true but reason is false.
A Ifboth assertion and reason are false.
Wh.ich demand of the Srilankan Tam‘ils,was repeatedly denied? (1)
a. Their _demand of separate electorate
b. . Their demand for freedom of expression.
. €. " Their demand for the right to vote.
A Their demand‘ for more autonomy to provinces populated by the Tamils

Consider the statements given below and choose the correct answer. (1)

Statement | : The< SHGs help borrowers overcome the problem of lack of collaterél.
Statement Il : They can get timély loans for a variety of purposes and at a high inferest rate. ‘
; /{ Statement | is correct and Statement Il is-faise. | : | .

b. Statement | is false and Statement Il is correct. ' ;

c. Both Statements -afe,.incorrect' » e

d. - Both Statements are correct

© Complete the following table with correct information regarding BMI. Select the correct

option for A and B. i : e (1)

BMI |How to{BMI of a|BMI  of
S calculate | person  who|a person |
is.  under- [ who is
nourishied = | overweight

S ; ] ‘BO([y [\ =i less dlﬂll 183 B-2?
Masy
Index

e R R : : 7 i
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a. A__D 3 1 7 R o v 3
Vide the Weight of a person (in kg) by the square of the height(in metres) B-1ess
than 25
b. A-Divi
9@ the weight of & person (in gram) by the height (in metres) B-More than 25
C!

A-Divide the wei

ght of a person (in kg) by the square of the height (in metres) B-
More than 25

-

. A-Divj : k(o |
}{ n ide the height of 4 person (in mts) by the square of the weight (in kgs) B-More
an 50 :

2/ e MGNREGA 2005, | those who are able to, and are |n need of, work in rural areas
are guaranteed 1qq days of

fails in its duty to Provide
people. Identify the right,

)d- Right to work

employment in a year by the government. If the government

employment, it will give unemployment allowances to the

(1)
b. Right to Freedom
- ¢ Right to livelihood d.  Right against Expldifation_

}’8/ Given below is & Cartoon created by Neelabh Banerjee, the renowned Indian cartoonist,

" lllustrator, and comics artist (1)
Oh she?i?. she ' ™.
doesn't work, Sl ‘y
she's-a housewife. e e
What is the (Source: asiapacificunwomen.org
_ i
d.  the sexual division of labour in India
b. natural and unchangeable gender divisions : | o
C. income ge'nerating activities done by women in rural India
¥ s ' . /

d. the ability of men to contripute equally to domestic work as women L e

“
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5 L R ‘ : ' a particular sugar mill, 1, G|
/ Farmers of Maharashtra decided not to sell sugarcane to @ P ! t

ffected due to the requ
will have to shut down. Which of the following SeCtors arees alfe

farmers to sel| their ‘sugarcane? : (1) :
5 "a)  Only Piimary }7{ ',<$ecgndarv and tertiary ‘ _‘
' c)‘ anary secondary and tertlary : 4 lf"rirlfla'f}"‘and terﬁ‘a‘hﬁ’f ;
/ What.is not true about Agenda 217 j l | A',("l)v 'l.
2 a. |t arms for achlevmg Global Sustamable Development '
b. Itisan agenda fo fi ght environmental damage poverty. disease efc. e

2 Agenda 21, has legal Powers to acquire even private property for public good.

d. 3 One of |ts maJor ObJeCtheS is that every local govt should draw its own agenda 21 5

/ Observe the graph glven below and answer the question’ based on lt, .1- e e (1) -

Other fon - s |
: e : Institutional * - . i AU l
g : i e R cies 2% i A G |
; P Vi e e Govemment1% .. - & ;| ‘
: . Relatives and G : [l 2T |
; Coopefative
SR v Society / Banks 25% : g
- Money A ::: E 1
Lender 33% i st
| Commercial
Banks 25%
Seu e e S Landlordst% ;
: 4 _- Yo, s e ST Olherlnshlullonal ;

L, e 5y - : =
Wthh of the followmg sources of credlt wrll MOST LIKELY lead to a debt trap’? '

a.: Cooperatlve socretles j;':?.i' f- . vb Relatlves and fnends
of Moneylender L . E Banks % '

Mr Y needs a loan for buylng fertlllsers to enhance crop productron He borrows loan from

abankasntls g : e ey o o (1‘)

)i Cheap and affordable since rate of lnterest is lower

i) free from fallmg lnto a debt trap : -
/ m) gomg to ask hlm to sell hlS property : : (
: ) free of |nterest ” A ," ' o
A ; Onlyl ' e b ||A| and .|v

P tf : --|vand'.ui»-~ ;;'-' i e o Only s

. 7. SoclStudies-x-g
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t option
Modern democracues maintain check and balance system. Identify the correct op

(1)

-

based on the horizontal power sharing arrangement.
a.  Centrg 90vernment, state government Iocal bodies.

Leglslature executive, judiciary.
c.

d.

Among different social groups.
Among different Pressure groups.

d
There are two statements given below, marked as Assertion (A) and Reason (R). Rea

(1)
the statements ang choose t the correct option. :

Assertion : The Executive plays an lmportant role in overseaing the implementation of

constltutronal Provisions & procedures. )

Reason : In case of any dispute about the division, of powers, the High Courts & the
Supreme Court make a decision. '

Options:

/a'. Both Aand R are true and R is the correct explanation of A.
b. BothAand R are true but R is not the corréct explanation of A.
c. AistugbutRisfalse. = .

d. Ais wrong but R is correct.

- The cartoon portrays about the: ' ‘ (1)

a. Perils' ot‘ running a coalition Govt
b. A coalition govt have more work to do.

best way to run a demaocratic country like India is Coalition govt.
c. The bes : :

| . . ‘ Il be welcomed.
. - : s the overall efficiency of the Govt and hence shall ,
/{- Coalition govt increase
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SECTION - B

2x4=8)
. VERY SHORT ANSWER BASED QUESTIONS (

: |

ions that follow : ) |

2% Study the given table carefully, and answer the questions |

e i

[ e e f HDI Rank in ]

Country Gross National ik hgi?,l;?:;so? the world i

| ln::rmceagﬁ:') Gkt St e)a aged 25 (sin\20at2l §

d above i

: (2017 PPP §) a0 |

‘ [ 10.8 .
Sni Lanka 12,578 76.4 6.7 132

India 6,590 67.2 LG i Ve |

Myanmar ’ 3,851 ; 65.7 45 sl e 161 Ll

Pakistan | 4,624 66.1 5-1 ’ : 143 v

Nepal 3,877 68.4 %) e
Bangladesh 5,472 72.4 : - - .

/ What are the Components of human development ?

‘ /B/ Why is Sri Lanka's rank higher than India »

My friend's grandfather had gone to Belgium during the 1950's and 1960's and worked in

|
a chocolate factory. He éxpréssed that 'he witnessed tensions between the Dutch |
speaking and French-

speaking communities during this time in Belgium'. Justify the

(2)

Statement with two reasons. '

/23./ Suggest any two rheasures for the conservation of wildlife. -

/{ “Mr. Y from a city in India visits a-rural, area ?hd finds five: People wbr king in a small

! . @
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}( What is decentralisation? In what three ways does it help to the successful functioning of

34./ How religion can be used in polrtrcs in a posrtlve manner’? Express your viewpoint by

Over the forty years between 1973-74 and 2013-14, while production in all the three
sectors has increased, it has increased the most in the tertiary sector. As a result, in the
year 2013-14, the tertiary sector has emerged as thelargest producing sector in India

replacing the Primary sector. Why do you think tertiary sector is becoming so popular in

“ PO;V\'& (3)
(3)

?
India? Substantiate your answer giving any three reasons.
Highlight the role of Mazzini, Cavour and Garibaldi in the unification of Italy.

Qch (poi oR

Explain any three social and administrative reforms introduced by Napoleon in the regions

under his control.

democracy? PO(}\}Q : (3)

SECTION - D
- LONG ANSWER-BASED QUESTIONS (5X4=20)

"The Civil Disobedience Movement was different from thé Non- Cooperation Movement
/ Substantiate this statement by providing five key differences. - (5)
QR ok

'Some icons -and symbols were used for unrfyrng the people and sparkrng in them the -

feelrng of natronalrsm lee five, evrdences to support above statement

)

Suppomng five arguments.
| OR

“Women face disadvantage, discrimination and oppression in various ways even today.
Assess the statement by giving five suitable arguments. "6 P@P

2/ "'Name the" two most important cereal crops grown in India. Describe the conditions

required to grow these two crops with reference to the temperature rainfall and seasons
and regions. | (1+4= 5)
OR

Describe'any five reforms brought in the Indian agriculture after ingjependence through the

efforts of the Indian government.
S ‘oefr\"’ -
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India (RBI)- (
/83/ Elucidate the advantageous and detrimental functions of the Reserve Bank of In
| Fb ﬂtg o ; ff ent
o differ
=) “Whether credit will be useful or not, depends upon the situation.” Give tW
examples to validate this statement

i
g
l
|
¢
t

~ SECTION-E sy o

CASE-BASED QUESTIONS (4x3= 12)

}u/ Read the given extract’ and answer followmg questlons

sure
Power Shar/ng affangements can also be seen in the Way polltlca/ parties, pres ,

groups and movements control or /nfluence those in power In a democracy, the citizens

must have freedom to choose among various contenders for. power. In contemporary
democracies, this takes the form of competition among' different partles Such competition |
‘ensures that power does not remam ln one hand: In the/lougarunﬁ/ef is shared among

: dlfferent pollt/cal partles that represent dlfferent [deologies and social groups. Sometimes

' thls klnd of sharmg can be dlrect when two ' or more part/es form an alllance to contest :
:'electlons Iftheir. all/ance s elecfed they form a coalition government and thus share ..':_'

- 'power In a democracy, we fmd mterest groups such as those of traders businessmen,

/ndustr/allsts farmers and industrial workers They also will have share in governmental

power either through part/CIpatlon in governmental comm/ttees or bringing mfluence on
the decision- -making process o | L ' 3

. / 'Power sharlng is an essentlal component of democ. acy.' Give one example to prove

the statement. ‘ywu-tz\tg i G @ Pwm 6 S WF

/ How lS alllance buﬂdlng an example of power shanng’? (1)

or

@

/Z/ How Polltrcal pames pressure groups and movements help in controll:ng

mﬂuencmg those who are in power’P

: ;6/ Read the source glven below and answer the questlons that follow :

AL present there are about 130 million hectares of degraded Iand in. Ind/a A

T IR IR

Pproximately |
wh il 08 per cent of it belongs to the category of forest degraded area, 56 per cent of it is water

G’he balance of soil | i

ng a/ong the contour

vt . % 8 & > &g

'eroded area and the rest is aﬁ’ected by saline and alkallne deposrts

jformat/on and eros:on is dlsturbed due to- human actlwtles Plough,

g

Social Studies— X =10
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Z;::::nd::ezrtaz tthe flow of water down the sloped This is. called contour ploughing.- l P
Western and centra| ; fulle siopes Maling e Terrace cultivation restrrcts erOSIOl:1
divided into strips. St ’malayas havelwe/iCerbiiel terrace farming. Large fields can m:
force of the win d. Thi e grass are left to grow between the Crops: This breaks up t
helter als Sncucals known as strip CfOpprng)Plantrng Jines of trees.to crealé

; : WOfks : 2 similar way: Rows of Such trees, are called shelter belts. These -

sheher 4
- belts have contrrbuted srgnrfrcantly to the stabrlrsatron of sand dunes and i
_ stabrhsrng the desert rn western Indra | |

The balance of soil formatron and erosron is drsturbed due to human actrvrtres. Give *

‘ /two examples to prove the statement 7 : : ' (o
2. Suggest any two ways to prevent soil erosion. : 2
- 36. _Read ‘the source g|ven below and answer the questrons that follow:

Emst Renan, 'What'rs a Nat/on7'- In a /ecture delrvered at the- Unrversrty of Sorbonne in: -
1882, the French phrlosopher Ernst Renan (1823-92) outlrned his understandrng of What

makes a natron The lecture was subsequently publrshed as’a famous essay entrtled Qu

. estcequ’ une natron’?’ (‘What is a Natron? )

- In this essay Renan crrt/crses the notron suggested by others that( natron Is formed by Fi
: onmm‘on language, race, relrgron or terrrtory;?A nation rs the- culmination of a long past of -
endeavours, sacrifice, and devation. A heroic past, great men, glory that is the social
g ’ caprtal upon Wh/ch one bases a natronal rdea) To have; common glorres rn the past, to
g have | common will rn the present to have performed great deeds together, to wish to
perform strll more, these are the essentral condrtrons of berng a people A natron is
therefore a Iarge-scale solrdarrty Its exrstence rs a darly plebrscrte A provrnce s rts"“
rnhabrtants rf anyone has the rrght to be consulted it rs the rnhabrtant A natron never has
any real rnterest in annexrng or holdrng on toa country agarnst rts will. The exrstence of i
;- _ nations is a good thing, @ necessrty even. Therr exrstence is a guarantee of liberty, which: €

' ; would be Iost rf the world had only one Iaw and only one master

-~ R e

3 Source

What charactenstrcs Ernst Renan beheves a natlon should possess’) R (2')"-. o

ij‘_‘_.}_'\"'/_yh'at,_' do you mean by the concept of modern state 7 How does rt drffer from

‘ ., - : .
\ TRg 20 i s R S
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SECTION - F

MAP SKILL-BASED QUESTION (2+3=5) o, o
. i ap o : .
}7/)‘/ Two places A" and 'B' have been marked on the given outline map

m (1+1=2
: hem.
them ang write their correct names on the lines drawn near t

/ Indian National congre

S session at this place in 1920. Calcatloy
B The place where Mah

0
atma Gandhi broke Salt Law. Daydt
&~ 0n the same Politic

e of the
al outline map of India, locate and label any thre

(1+1+1=3)
following with suitable symbols:

il(any one area/reglon)
Leading producer 09(711%(1
: / Major

Producer state of Sugarcane Kasrglaka
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